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Stress-Stretch
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Solution
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Gent Balloon (λm = 5) 


1 1.5 2 2.5 3 3.5 4 4.5
0

0.1

0.2

0.3

0.4

0.5

λ

pR
0/E

t 0

 

 

Π̂ =
Π

R0
2t0E

= −
2πJm
3

ln 1− J1
Jm

$

%
&

'

(
)−
4
3
πλ3p̂

p̂ = pR0

Et0

1 1.05 1.1 1.15 1.2 1.25 1.3
−1.5

−1.45

−1.4

−1.35

−1.3

−1.25

−1.2

−1.15

−1.1

λ

Π
/E
R
02 t
0



Gent Balloon (λm = 5) 
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Gent Balloon (λm = 5) 
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